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Matt in 2! Stellung nach dem 4. Zug von
1.f8S a4 2.Sg6# Schwarz. Wie kam es dazu?
1.Sf3 Sf6 2.Se5 d6 3.5c6 Sfd7 4.Sxb8
a b ¢ d e f Sxb8
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Matt in 24! | / E/@/ |
a b c¢c d e
1.Df3+ Ka7 2.Sc6+ Ka8 3.Sd8+ Ka7 M 121
4.cxb6+ Kxb6 5.Dc6+ Ka7 6.Dc5+ Ka8 att in 12!
7.Dd5+ Ka7 8.Dd4+ Ka8 9.De4+ Ka7 1.8h2+ Ke1 2.Sf4 Sb4 3.Sf3+ Kf1 4.Sh5
10.De3+ Ka8 11.Df3+ Ka7 12.Df2+ Ka8 Sa6+ 5.Kb7 Sc5+ 6.Kxa7 Se4 7.Sh2+ Ke1
13.Dxg2+ Ka7 14.Df2+ Ka8 15.Df3+ Ka7 8.5f4 Sc5 9.5f3+ Kf1 10.Sd5 e1D 11.Sh2+
16.De3+ Ka8 17.Ded+ Ka7 18.Dd4+ Ka8 Ke2 12.Sf4#
19.Dd5+ Ka7 20.Dc5+ Ka8 21.Dxc8 f6
22.Dxa6+ Ta7 23.Dc6+ Tb7 24.Dxb7# a
a b ¢ d e f g h %
o B 8 %
7%§%i/ Vert) Z 5% /
L & %/ / | 7
iy s N /g? B A |
4| %/ %y Y %4 7 4// Gy
8 | 7 oW 7
i ) 'n mnn
7 // /7 /7 / /
2| //%ia///%% //%7/%/2 a b c¢c d e g/h
a b ¢c d e f g h Matt in 4!
Selbstmatt in 4! 1.Ld7 Lg6 [1...Ld5 2.Lc8 Lb3 3.8Sd7+ Kd5

4 Lb7#] 2.Lc6 Le8 3.Led La4 4.Sf7#
1.h8D Kcb6 [1...Keb6 2.c8L Kd6 3.e8T+ Kcb

4.b8S+ Sxb8#] 2.Df6+ Sxf6 3.d5+ Sxd5 -
4.Sb4+ Sxb4#
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